FINSHED WALL TO
1/8" RAL END CAP

mse_/]
AL

9 MAX.
FROM SUPPORT
{=—— SPLICE
<
bussED
CORNERS
TYP.
1/2
TYP.
8
Bl
5l
Elo POLISHED EDGES
=y ALL 4 SIDES \
EHE]
3]
2
LU
1/2°%2" STANLESS
STEEL BAR
GUSS CERTIFCATON L0GO Y
GLASS MANUFACTURER (TYP.)
Qs FINISHED FLOOR - -
N3 BY OTHER E " STUD 3/8-16x2-3/4 S5

48 MAX. ON CENTER

42 1/2 (42 MINMUM HEIGHT *PER IBC CODE*

FINISHED FLOOR
BY OTHERS

FINHED FLOOR T0 T0P OF RAL)

(27 OR 1.57) D STANLESS STEEL OR
(2" OR 1.75") OD WOOD RALL

STAINLESS STEEL POST TOP
& CAP RAL BRACKET

SCS M8 X 20 BH S5

47/8

l

\ S5 ROD AND PISTON CLP

1/42" DOUBLE

/ STANLESS STEEL BAR

1/2" CLER
/ TENPERED GLASS

21/2

1-1/2" 0D STANLESS
STEEL BUTION

1/2-13 X 1" BH S5

5/8" X 3" X 6" ST WELD BLOCK
PLUG WELD TO STEEL

LIVERS BRONZE CO. RECOMMENDS 1/2" THICK (MINIMUM)
STRUCTURAL STEEL (BY OTHERS). THE DESIGN AN
PLACEMENT OF THE STAIRS (BY OTHERS) SHALL BE
LEVEL AND PLUMB.

CONC. BY GENERAL CONTRACTOR




(27 OR 1.5 0D STANLESS STEEL OR
(27 OR 1.75%) OD WOOD RAIL

STANLESS STEEL POST TOP
& CAP RAIL BRACKET

SCS M8 X 20 BH S5

— — (2" OR 1.5%) OD STANLESS STEEL OR

|~ (2" oR 1.75") GD WoOD RAL
1172

51/4

STUD 3/8-16X2-3/4 S

\ SS ROD AND PISTON CUP

- » DUBBED
-1 CORNERS
TP,

1/2° CLER
/ TENPERED GLASS
1/4°%2" DOUBLE

/ / STANLESS STEEL BAR

BOTTOM OF GLASS POLISHED EDGES

2N

27,
%
%) 4
FINSHED NOSE 10 0P OF RAL)

FINHED NOSE T0 TOP OF RAL)
FINISHED NOSE 10 TOP OF RAL)

TP OF
STEEL

42 1/2 (42 MINIMUM_HEIGHT *PER IBC CODEX

34 1/2 (34 MINIMUM_ HEIGHT *PER IBC CODE*

42 1/2 (42 MINMUM HEIGHT *PER IBC CODE*

= |
R

1/2_|
Y.

FINISHED NOSE TO TOP OF RAL)

1-1/27 0D STANLESS
STEEL BUTTON

FINISHET
NOSING

34 1/2 (34 MINMUM_HEIGHT *PER IBC CODEY

1/2-13 X 1" BH SS

GLASS CERTIICATION LOGO BY H H
GLASS NANUFACTURER (TYP.)

5/8" X 3" X 6" ST WELD BLOCK
PLUG WELD TO STEEL

5

VARES
21/2

ANSHED I
N NOSING
N— ST 3/8-16x2-3/4 §5 \

N 1/2X2" STANLESS
STEEL AR

\ LIVERS BRONZE CO. RECOMMENDS 1/2" THICK (MINIMUM)

STRUCTURAL STEEL (BY OTHERS). THE DESIGN AND
PLACEMENT OF THE STARS (BY OTHERS) SHALL BE
LEVEL AND PLUMB

EQUAL SPACES
(48 wx. 0.C ¢ T0 & OF POST

HLivers
_ BRONZ
o G0ty 003538 | Pen (516 3000004

i




4 MN.
VARIES

9 Nx
1/2 FRON FROM SUPPORT
FINSHED WALL TO f-— spuce .

1/8° RAL END CAP (2" O 1.75) 0D WOOD

(2° OR 157) OD STANLESS STEEL OR
RAL

I J— J— [ STAMLESS STEEL POST TOP
& CAP RAL BRACKET

SCS N8 X 20 BH SS

21/2

oubBED DUBBED =)
CoRfiERS CORNERS s
VP, VP, -

| 174" DOUBLE

/ STANLESS STEEL BAR

/2
TP,

POLISHED EDGES
AL 4 SIDES 1/ s

WAL |~ TR Guss

~

42 1/2 (42 MNMUN HEIGHT PER IBC CODE*
FINSHED FLOOR 10 T0P OF RAL)

42 1/2 (42 NINIMUM HEIGHT *PER IBC CODE*
FINSHED FLOOR T0 T0P OF RAL)

ﬁ

1-1/27 0D STAMLESS
N

/ STEEL BUTTO

1/2X2" SWMLESS
H STEEL BAR
GLASS CERTFCATION LOGO BY
GLASS NANUFACTURER (TYP.)

479 CORE DRILL

@ @]

ANSHED FLOOR
BY OTHERS (BY OTHERS)
o FINSHED FLOOR 16~ o
S[E BY OTHERS SO 3/8-16X2-3/4 59 5 POST SET, EXTERIOR OR INTERIOR
— — | \
BAR 1/4 X 1 X 4 CONCRETE EDGE.
~ (BY OTHERS)
CONC. BY GENERAL CONTRACTOR
4 M

4 VARIES PER FIELD) DIMENSIONS 48 NAX. ON CENTER

VARIES




(2" OR 1.57) OD STAINLESS STEEL OR
(2 OR 1757 0D WooD RAL

STANLESS STEEL PaST TOP
& CAP RAL BRACKET
SCS U8 X 20 BH 5§
- — (27 OR 1.57) OD STANLESS STEEL OR
L~ (2" OR 1757 OD WOOD RAL
11/2 I
_ STUD 3/8-16x2-3/4 S5 —
| \ SS RGD AND PISTON CLP
o g [t
DUBBED 8 23 é
CORNERS P =2 ol
s |2 gls g E 1/2" QER
gls =[5 =™ / TENPERED GLASS
, £[® e & 3
Sle |y g8l Sl 1/4°X2" DOUBLE
=|w HE o 22 STANLESS STEEL BAR
BOTIOM OF GLASS 4 Zla POLISHED EDGES 3l L[
H o A soes | 22 Bls
=5 < S zP
BAR1/4X 1K 4 0P OF 38 < gE ZE
CONGRETE N < 2
S 9 <t Iy
12_J ]
P, 3|2 1-1/2" 0D STANLESS
N / STEEL BUTTON
=
* )
GLASS CERTIFICATION L0GO BY AT |
GLASS NANUFACTURER (TYP.) "
4" CORE DRILL
— (BY OTHERS)
g 3 POST SET, EXTERIOR OR INTERIOR
ANISHED b
NOSNG
N— stup 3/8-18%2-3/4 S \
TN 1/2%" STANLESS
STEEL BAR
\ CONCRETE_ EDGE.
~ (BY OTHERS)
I CONC. BY GENERAL CONTRAGTOR
4 MIN. 4NN
VARES VARES

EQUAL SPACES
(48 MAX. 0.C € 70 € OF POST




SCREW HOLE N UPFER RIGHT
HAND CORNER OF PLATE

414X T X 5/8
STEEL WELD PLATE

TOP OF STRNGER
TOP OF FINSHED FLOOR

PROVIDE_FINISHED
FLOOR THICKNESS

TOP OF ROUGH FLOOR, LOCAT
AT HIGH POINT N CONCRETE.

E 1/4 — TOP OF WELD BLOCK

2

H E 1-1/2" 0D STANLESS
STEEL BUTTON

TOP OF CONCRETE
-
e
1/
Az
7t v
™ 743
9 UAY.
FROM SUPPORT
f~—— spuce
g
DUBBED
CORNERS
P,
1/2
v,
g 5
s 8
7 Bl 7 ol
|2 4 213
Fls Bls
B =B
] POLISHED EDGES s
1 SIDES \ 22
El] 313
g2 =]
g N
NH SE
o =
GLASS CERTIRCATION LOGO BY
GLASS NANUFACTURER (TYP.)
- 1/2°X2" STANLESS
STEEL BAR
N S
. b FINSHED FLOOR
FINSHED FLOOR & BY OTHERS 4
BY OTHERS \ 3| STUD 3/8-16X2-3/4 S5
+— || <
"l. sieeL mvoe T =
(@ aTHERS) 2
Ao
A v
a
i | <
STRUCTURAL CONCRETE
FLOOR SYSTEM 4
(BY OTHERS)
<

(2 OR 15 OD STANLESS STEEL OR
(2" OR 1.757 OD WOOD RAL

STANLESS STEEL POST TOP
& CAP RAL BRACKET

SCS N8 X 20 BH S5

\ S ROD AND PISTON CLIP

1/4°X2" DOUBLE

/ STANLESS STEEL BAR

1/2° QLR
|~ eweeReD s

4 1/4° X 3 X 5/8°

/ STEEL WELD PLATE

/scs 1/2-13 X 1" BH SS

LIVERS BRONZE CO. RECOMMENDS 3/8" THICK (MINIMUM)
STRUCTURAL STEEL TUBE (FOR TUBING ONLY)(BY OTHERS)
THE DESIGN AND PLACEMENT OF THE STAIRS (BY OTHERS)
SHALL BE LEVEL AND PLUMB.

LATEX JOINT SEALANT
(BY OTHERS)

3/8" GrP. BD.
(BY OTHERS)




ST 3/8-162-3/4 55

DUBBED
CORNERS
TYP.

2 1/

EQUAL
P

BOTIOM OF GLASS

TOP OF
STRNGER

FINISHED NOSE 10 TOP OF RAL)

FINGHED NOSE T0 TOP OF RAL)
42 1/2 (42 MNMUN_HEIGHT *PER_BC CODE*

34 1/2 (34 MINNUM HEIGHT *PER 1BC CODEX

ANSHEY
NOSING

GLASS CERTIFCATION LOGO BY
GLASS NANUFACTURER (TYP.)

POLISHED EDGES
ALL 4 SDES

~

INSTALL WOUNTING PLATE WITH
SCREW HOLE IN UPPER RIGHT
HAND CORNER OF PLATE

41/4" X 3" X 5/8"
STEEL WELD PLATE

TOP OF STRINGER

FINSHED NOSNG
UNE

s

oV
174

N 1/2X2" SINMESS
STEL MR

[N st 3/8-160-3/4 55

EQUAL SPACES

(48 WAL O.C G 10 & OF POST

1
FROM
TOP OF WELD BLOCK
TO\TOP OF FINSHED NOSE

\

VIEW FROM NON-TRAFFIC SIDE

(27 OR 157 00 STANLESS STEEL OR

(2" 0% 175") 00 Wo0D RAL
STANLESS STEEL POST TP
& OO RAL BRACKET
SCS W8 X 20 B S5
- — (2* O 157) 0D STANLESS STEEL OR

L & o 1757 00 wooo RAL
112

% \ SS ROD AND PISTON CUP

1/2" sk

R
/ TENPERED GLASS

[ sw

2

1/4°%2" DOUBLE

/ STANLESS STEEL BAR

42 1/2 (42 MININUN_HEIGHT *PER IBC CODE*
FNSHED NOSE 10 TOP OF RAL)

FINSHED NOSE 10 TOP OF RAL)

34 1/2 (34 NINMUM_HEIGHT *PER IBC CODE*

2

1-1/2" 00 STANLESS
STEEL BUTION

-

21/2
[® @]

FINHED

NOSNG T\

X T XS

| s
I
|

f
| —ssianxres

™

UVERS BRONZE CO. RECOMMENDS 3/8" THICK (MINIMUM)
STRUCTURAL STEEL TUBE (FOR TUBING ONLY)(BY OTHERS).
THE DESIGN AND PLACEMENT OF THE STAIRS (BY OTHERS)
SHALL BE LEVEL AND PLUMB.

C——— F|




st

7 N C

B-32 X 3/8" SS UNDER CUT MACHINE SCREW
DRLL TUBE AND DRLL AND TAP TUBE
INSERT FOR 8-32 SCREW

ROBOIS SPLICE ASSY.

2X.085 WALL S TUBE

@ FACTORY CUT SPLICE

3
Ti/2_, 11/

0 F s
C

RC6000 SPLICE

D

1 1/2°%065 WALL S5 TUBE

oy

13/32 HOLE N LOWER J
NABERED RAL
(USE /16" ALLEN WRENCH

T0 NSTALL SETSCREW)

38

1/2" CLEAR.
TENPERED GLASS

WASHER, 1 7/8 0D X .38 1D STANDOFF-

SCS 5/16-18¢1-1/4 FH S5

GLASS CUP BODY-

1/ex2
DOUBLE BAR

SSSCS BH 1/4-20 X 2 1/2°
§SS 1/4-20 X 1/4" SS
316 ROD, PISTON MOUNTING

(STANLESS STEEL)
DISK, 2* 0D X 343 D X 1/4" THK

(STANLESS ‘STEEL )

SPACER
1.5 X 065 X 15"
LONG SS TUBE

DISK, 2 0D X 1/4° THK 5/16 C'SNK S5

@ ROD-PISTON ASSEMBLY -END POST
1/2' CLEAR
TENPERED GLASS

WASHER, 1 7/8 0D X .38 ID STANDOFF-

SCS 5/16-18X1-1/4 FH S

1/4%2"
GUASS CUP BODY-

/uuum[ e
S5 1/4-20 X 1/4° S5
316 ROD, PISTON MOUNTING
(STAMLESS STEEL)
DISK, 2° 0D X .343 1D X 1/4" THK
(STAMLESS ‘STEEL )

STUD 1/4-20%3 S5
DISK, 2° 0D X 1/4" THK 5/16 C'SINK SS-

SPACER
15 X 065 X 15"
LONG S5 TUBE

ON_ASSEMBLY-INT POST
1

@ LIVERS

BERONZE

4621 East 75th Terrace Kansas City, MO 64132
Phone (816) 300-2828 / Fax (816) 300-0864
www.liversbronze.com
livers@liversbronze.com




